LLM#EIERE DI F 5258
1. 523588

1.1 LLMIEIREE OB

RIESHEE (LLM, Large Language Model) RI#IREENZRIERBIREERES (MILETX. R
A BTF) , BIERNEIAG. ZEHEEMEANRLE, ERFEIEXEIENESHETREE
7o

FEEARESAIEEST, HIERIAIUBIERETRTFZERES, WEEFRE. XAEERN. B4E17E
BF, #—Fith, AILGEREEFRIF. ES5HE (Agent5m) FRA.

1.2 HEiLLMEIREE I RR

LLMAVH#EIERE /I RIR T HE S 2R E#1TRITISG, BERIRGIFESTEWNTES), REFTAR
IR, RS, BIRE. BREESFSERTH—ENE. REXEENTZEHREEE
B, BellEEAESAEESHRMBBANERMIBFEES, AF, LLMEHEEN LNHAE—
ENRERYE, HREEER

o BIRAYERHEE
LLM A2 SpZEHERS, RtFEREEdRALEHITHIE, MAREEERRREARXR,
XEFRETEANEES #HNEREN, RENEIEEN TSRS,

o BHRHNHFMZEMHIEED
LLMARZBZ I IAMFHIRIGITHY, EERMRFHIEES LMEER, THESRESPIHENEE
IBEZS I RESERN R A,

o ETFSKERS!
HETXERIFEEKE, REFEIEERNTIRSRIEMN, LEHEFEEUKERERHEITHE
B,

1.3 LWHRHD

PNIEBLLMEEERES], FBEFINIERG ANRAFERRE. A, ZRTFERNITERRFMG,
URSKPRN AAENR, ASEIMEMTREERT, MHRLLMERRENIRATSE.



1.3.1 L85 =
o BRITEZRIR: 2*4090 GPU
o Z2EIRIIM: LLAMA-3.1-8B-Instruct

1.3.2 $iEE
o FRAMATHHGRESE, WIFXIEHIEES, HIXBRRSE
o HIBMIBNRT, EREHRE, WZISEEHRBEY
o MATHEIESE/HIBIRIBISH, MEK, ITES, EERANLEX
MATHEGREE R
o BRIAENE:

{'problem’: 'Let \\[f(x) = \\left\\{\n\\begin{array}{cl} ax+3, &\\text{ if }x>2, \\\\\nx-5 &\\text{ if } -2
\\le x \\le 2, \\\\\n2x-b &\\text{ if } x <-2.\n\\end{array}\n\\right.\\]Find Sa+bS§ if the piecewise
function is continuous (which means that its graph can be drawn without lifting your pencil from
the paper).,

'level”: 'Level 5',

'type': 'Algebra’

'solution': 'For the piecewise function to be continuous, the cases must "meet" at $2$ and $-28.
For example, $ax+3$ and $x-5$ must be equal when $x=28S. This implies $a(2)+3=2-5$, which we

solve to get $2a=-6 \\Rightarrow a=-3$. Similarly, $x-55 and $2x-b$ must be equal when $x=-25.
Substituting, we get $-2-5=2(-2)-b$, which implies $b=35S. So Sa+b=-3+3=\\boxed{0}$."}

o IR EiREIERILaTexmI R {LEE



|a)RE -
ETESERERE f(z):

ar+3 WP z>2
fle)=<z—5 MWHE —2<2<2
20 —b MYz < -2

Bz BREHEESN (AIRSESILIMEGEE—EEEE) . Ka+ bHIE,

BETE:
AT ESRERER, SNASREXRSR — 2/l — 2 RU/REL", AEXLES, BE
2=

1.7 = — 2 §b:
£ — 24, SEBRHNAEES ar + 3 ¥ x — 5 PYRIES:

a(2)+3=2-5

2a 4+ 3= -3

EhiEEs.

]

2.z — —24b:;
T = 24, SEHEHEIREES ¢ — 5 2z — b wiESE:
—2-5=2(-2)—b
g

BELIEER.

.18 a + b:
Ha— —-3F8b—=3), ITE:

a+b=-34+3=0

SEER:



1.3.3 iHiafw

Final Exact Match (Final EM) i5fre—ME FIHHREEBAESLIERS FIRNZES. #F
HREES) PRI GIER. EEERTFNERETNEREMEERERE LA,

o fEHREITT
EM (Exact Match) {&XZE2IiE, CHEIFRENTINERS5SEERZREE—FAEMTEER. B

AS —
T, MRMNERMELEREFREAT L (BFEE. iF. 75, ©K8F) #Hxe2—5 WA
FILECRLIo

. AR
L EERINER: BRI LSRR .
2 FRREE WRENRHNERESR,

WNFE—MER, MREENTNERSTESETEER, WZERNWEMFSA L, WA 0. &
£LH9 Final EM ¥R 2FRE 1 ZSHY EM ERYFI9ME, BD:

e A VL P PR A %
EFEAEL

Final EM —

o il

NBIREERR 42 , BLIRBERB 42 o 0042 #HEWMANTEILE, BEREM forty-
two ¢ 42.0 MAHTLITHE,

1.3.4 RS

o BIRAFFTHLLMEMES MBS

o COTHRALLM#EIEFIIZ, BRUTZOLAR
o JAKRIEIR
o EFMATHHICOTHUIESE

2. AR
2.1 EREETHLLMEXIESHIAE



2.1.1 FZRAE B N EL

MREAFPI2UBEMEFREEGPU, KFFHEE~4"8=32GEF, LtAIT—iK24GHI4090Z A THY, XtLtk
] LAfERMM S ZE:
1. {RA5EMERE

MRERFPIGEEME, REE~16GERE, AIUTLMEE—K4090L,

model .state dict()[ 'model.layers.@.self attn.q proj.weight’]

2. DPEMHESZK KL
A LTI R AERINESE, 2AMBEZKFE (RERER2KF) -



"'model.embed tokens': 8,

"'model.layers.8"':

L

"model.layers.1":

L

"'model.layers.2":

L]

"'model. layers.3":

L

"'model.layers.4':

"model. layers.5":

L

"'model.layers.6":

L]

"'model. layers.

L

"'model. layers.

L

@@@@@Fﬁ@@@@

L

"model. layers.

"'model. layers.

L]

"'model. layers.

-

"'model. layers.

L

"model. layers.

b

"'model. layers.

L]

"'model. layers.

L

"'model. layers.

L

"model. layers.

b

"'model. layers.

L

"'model. layers.

L

"'model. layers.

"model. layers.

b

"'model. layers.

L]

"'model. layers.

L

"'model. layers.

L

"model. layers.

L

"'model. layers.

L]

"'model. layers.

L

"'model. layers.

L

"model. layers.

b

"'model. layers.

L]

T T T T = I+ I <~ T <~
-

L

"'model.layers.31":
"'model.norm’:
"'model.rotary_emb': 1,
"Im_head': 1}

ASLEFEI KA LERRME R, BREKFNEFERE, HERSHITEIEHITIIZ.

2.1.2 f3iaEmnE S %8
DiRENEE, FEMUNTRIE:
e paddingt&z{ftoken id




fELLAMA-3.1-8B-Instruct®943i7284, pad token idflpadding ATIKIERE, X2E NI R
HZEpadding, BEEZMANMMENRNN, FENAFRKNIEHITY T, Eitxtpadding/A=0
token idi#{THERE.
o padding_sidetgEJgleft: 7Ecasual LLMA, IRIEEEMYT 7T, &5 HI<|begin_of_text|>
input content <pad><pad>...<pad><pad> output content <|eot_id[>&L, MMMEMMLLMFA
MR, SHENFEEEALMER

o pad_token_id$§%E S B 4Tktoken: REZWMS, pad_token_idEIEE FOL
eos_token_id, {B7ELLAMA-3.1-8B-Instructfy4ifazed, 025 % fFtoken, IEE
eos_token_id=TEEEMENIXF, F4iwarning: " A decoder-only architecture is being
used, but right-padding was detected! For correct generation results, please set
padding_side='left' when initializing the tokenizer." (E}eos_token_idti#IAAE
pad_token_id, SEBIIZEE, EXRAEM)  EALIEA, pad_token_id#isE HTNE
¥¥ktoken, Lbil<|reserved_special_token_O> (128002) .

2.1.3 #5<HIA
ELHMBREEARETIINGKESHRENEM L, SRR REEEESHELSTIRT
(instruction) #H1TH—HHIA, EREBIFHIBENHKITEMERES.

EAERED, ESHAMERENT:

1. WiRiNgRES—:
BIRiGEER problemiEZ=E M Fstring™, RigZZEEstringl

stringl = "<|start_header_id|>user<|end_header_id|>\n\n{problem}
<|start_header_id|>assistant<|end_header_id|>\n\n"

solutionXf WV HY[EIEAA, {Rig/Istring2
string2 = solution

¥stringl Sstring2#f1%, #1743, SEInputdata, ERLSHIAD, HINFEEiIHERIEH oss,
WELEstring2&853, stringlA&5HKI+E, NRAZHITE, MEHERITERIEE 57 loss.

RS Rt ELIENIL, RARARFKMABIEZEPaddingi®(E, S pad tokensZ iR (4 &g,
EEN A\attention maskZL &, HKESinput datafl@, 7wEA0/1, HAF 1 R-EMH token, 0
#< Padding B9 token, RBS7EITEIRKES, ZBE Padding token,

K

o [RIBERIE



{'problem’: 'Let \\[f(x) = \\left\\{\n\\begin{array}{cl} ax+3, &\\text{ if }x>2, \\\\\nx-5 &\\text{ if } -2
\\le x \\le 2, \\\\\n2x-b &\\text{ if } x <-2.\n\\end{array}\n\\right.\\]JFind Sa+bS$ if the piecewise
function is continuous (which means that its graph can be drawn without lifting your pencil from
the paper).,

'level": 'Level 5/,
'type': 'Algebra’

'solution': 'For the piecewise function to be continuous, the cases must "meet" at $2$ and $-28.

For example, $ax+3$ and $x-5$ must be equal when $x=2§. This implies $a(2)+3=2-5$, which we
solve to get $2a=-6 \\Rightarrow a=-3S$. Similarly, $x-5$ and $2x-b$ must be equal when $x=-25.
Substituting, we get $-2-5=2(-2)-b$, which implies $b=3S. So Sa+b=-3+3=\\boxed{0}5."}

o ZIHHEFNBIESIRE (E3)

o ZXEHHEFEHNBIESIRE (4WE3)

2. RO ES =
BEHIENsolutionfE N EREINLAICOTEIE, WTFAR:
FE#ERsolution:

"Since $\\begin{pmatrix} a \\\\ b \\end{pmatrix}$ actually lies on $\\ell,$ the reflection takes this
vector to itself.\n\n[asy]\nunitsize(1.5 cm);\n\npair D = (4,-3),V=(2,1), P = (V + reflect((0,0),D)*
(V))\/2;\n\ndraw((4,-3)\/2--(-4,3)\/2,dashed);\ndraw((-2,0)--(2,0));\ndraw((0,-2)--
(0,2));\ndraw((0,0)--P,Arrow(6));\n\nlabel(\"S\\ellS\", (4,-3)\/2, SE);\n[\/asy]\n\nThen\n\\
[\\begin{pmatrix} \\frac{7TH25} & -\\frac{24}{25} \\\\ -\\frac{24}{25} & -\\frac{7}{25} \\end{pmatrix}
\\begin{pmatrix} a \\\\ b \\end{pmatrix} = \\begin{pmatrix} a \\\\ b \\end{pmatrix}.\\]This gives
us\n\\[\\begin{pmatrix} \\frac{7}{25} a - \\frac{24}{25} b \\\\ -\\frac{24}{25} a - \\frac{7H25} b
\\end{pmatrix} = \\begin{pmatrix} a \\\\ b \\end{pmatrix}.\\]Then $\\frac{7}{25} a - \\frac{24}25}



b =a$ and $-\\frac{24}{25} a - \\frac{7}{25} b = b.$ Either equation reduces to $b =-\\frac{3}{4} a,$
so the vector we seek is $\\boxed{\\begin{pmatrix} 4 \\\\ -3 \\end{pmatrix}}.$"

¥i¥xiEmsolution:

"## Step 1: Understand the problem\nWe are given a matrix that represents the reflection over a
certain line $\\ell$, which passes through the origin. We need to find the direction vector of line

S\\ell$.\n\n

## Step 2: Recall the property of reflection\nSince $\\begin{pmatrix} a \\\\ b \\end{pmatrix}$
actually lies on $\\ell$, the reflection takes this vector to itself.\n\n

## Step 3: Write the equation for reflection\nThe reflection of the vector $\\begin{pmatrix} a \\\\
b \\end{pmatrix}$ is given by the matrix equation:\n\\[\\begin{pmatrix} \\frac{7}{25} & -\\frac{24}
{25} \\\\ -\\frac{24}{25} & -\\frac{7}{25} \\end{pmatrix} \\begin{pmatrix} a \\\\ b \\end{pmatrix} =
\\begin{pmatrix} a \\\\ b \\end{pmatrix}.\\]\n\n

## Step 4: Simplify the equation\nThis gives us two equations:\n\\[\\frac{7}{25} a - \\frac{24}{25}
b =a\\]\nand\n\\[-\\frac{24}{25} a - \\frac{7H25} b =b.\\]\n\n

## Step 5: Solve the first equation for b\nWe can simplify the first equation to get:\n\\[\\frac{7}
{25} a - \\frac{24}{25} b = a\\]\n\\[\\frac{7TH25} a - a =\\frac{24}{25} b\\]\n\\[-\\frac{18}{25} a =
\\frac{24}{25} b\\]\n\\[b = -\\frac{3}{4} a.\\]\n\n## Step 6: Find the direction vector\nSince $b = -
\\frac{3}{4} a$, the vector we seek is $\\boxed{\\begin{pmatrix} 4 \\\\ -3 \\end{pmatrix}}.$\n\n

The final answer is: $\\boxed{\\begin{pmatrix} 4 \\\\ -3 \\end{pmatrix}}$"

EMBUERM L, BEBEIENproblemiEZ=E N Fstrings, HHEEFRIAINIERES—, ZTBUBER
Billgr2iEsh, MEEFERCOTIRT, SilliibFrARNprompt templateffiF7T —3, HERSIRE
THCOTEESH, REBISHIRTIA TR,

stringl = "<|start_header_id|>user<|end_header_id|>\n\nSolve the following math problem
efficiently and clearly:\n\n- For simple problems (2 steps or fewer):\nProvide a concise solution
with minimal explanation.\n\n- For complex problems (3 steps or more):\nUse this step-by-step
format:\n\n## Step 1: [Concise description]\n[Brief explanation and calculations]\n\n## Step 2:
[Concise description]\n[Brief explanation and calculations]\n\n...\n\nRegardless of the
approach, always conclude with:\n\nTherefore, the final answer is: $\\boxed\{answer\}$. | hope
itis correct.\n\nWhere [answer] is just the final number or expression that solves the
problem.\n\nProblem: {problem} <|start_header_id|>assistant<|end_header_id|>\n\n"

HABRARAIIGES—, RIFFE.

2.1.4 230K



EAEMRABFIFET, ABE=MIILRE, EBRENTEEEFELA:

1. SR

BIENBItFit. LORAZ AR, XEAZEETRAGELNE, MIATINKRAIERWIIDSE, EREITN
TR, ASLWRALORASE, HlGESHERREESHEMN0.05%, BMARMNIRE SRIER S
ERE—, EESEZMERIIGFERATIER A/

trainable params: 3,407,872 || all params: 8,033,669,120 || trainable¥%: 0.0424

xSRI F]BY R FA GAS GCEREK :

e Gradient Accumulation (GA) BIEERESEHITABEEHA, KRN NMNEXIEE, RN
H SRR ZFR T3 batch size 1ZIEINE, MAREILENEEAENF. BNEAFRE KD
batch size, FrLREIREE L BNEEEH, BE AT EE ERTE M),

e Gradient Checkpointing (GC) BERERREFEES—BNPREFHEE. Hk, THRERAEER
BEMTEXLEHEE. XETUEERDIIAEENNEEFESH,

2. BFRERMA

ERFPIGAEEHITHIE, ETEREEREH, NECAENINBHINABERNE, EXBE—DE
o ANSKIARIESKILLEER, KAFP16AEEMIE,

3. %3tz

KO RAMKFFHITRE, BREEEF2K4090 L, BOESKENBEFHEE, FNRABIEFITR
B%, IEREEILk.

) S
2.2 k5 53
fEAIm_eval TRF#ENIL, IESWT:
CUDA_VISIBLE DEVICES=4,7
1m_eval ht \
minerva_math \
pretrained=/nvme/wyc/Meta-Llama-3-8B-Instruct,parallelize=True,dtype="bfloatls" \

128 \

8 \

temperature=0,top_k=8,top_p=0,max_new_tokens=10824 \

./result

M THET
o {ERCOT chat_template:



"Solve the following math problem efficiently and clearly:\n\n- For simple problems (2 steps or
fewer):\nProvide a concise solution with minimal explanation.\n\n- For complex problems (3
steps or more):\nUse this step-by-step format:\n\n## Step 1: [Concise description]\n[Brief
explanation and calculations]\n\n## Step 2: [Concise description]\n[Brief explanation and
calculations]\n\n...\n\nRegardless of the approach, always conclude with:\n\nTherefore, the
final answer is: $S\\boxed{answer}S. | hope it is correct.\n\nWhere [answer] is just the final
number or expression that solves the problem.\n\nProblem:{problem}"

e zeroshot

e do_sample EFasle, A%Emtoken#E1E2K91024 (H3F5120, XBLI LML, i
1024 MtokenSY SRR AR L FE T H2Mm)

o ARIEMFME, fEAbfloatl6NHEE

2.2.1 [RIEEN

2024-09-27:10:14:30,721 WARNING [huggingface.py:1353] Failed to get model SHA for /nvme/wyc/Meta-Llama-3-8B-Instruct at revision main. Error: Repo id must be in the form 'repo_name' or 'namespac
e/repo_name': '/nvme/wyc/Meta-Llama-3-8B-Instruct'. Use ‘repo_type' argument if needed.

2024-89-27:10:14:34,109 INFO [evaluation_tracker.py:286] Saving results aggregated

hf (pretrained=/nvme/wyc/Meta-Llama-3-8B-Instruct,parallelize=True,dtype=bfloatl6), gen_kwargs: (temperature=0, top_k=0,top_p=0, max_new_tokens=102U), limit: None, num_fewshot: 8, batch_size: 128

| |Version|Filter|n-shot| Metric | |value | | Stderr|

|- |——— l— |—— | |—]——- —l— :|

|minerva_math 1|none |exact_match|T |0.5056|+ |0.0066]

| - minerva_math_algebra 1|none 6|exact_match|T [0.7262|+ |e.8129|

| = minerva_math_counting_and_prob 1|none 6|exact_match|t |0.4u73|+ |@.8229|

| = minerva_math_geometry 1|none 0|exact_match|t [|8.4217|x |@8.8226|

| — minerva_math_intermediate_algebra 1|none 0|exact_match|t [|8.2691|x |@0.81u8|
| — minerva_math_num_theory 1|none 0|exact_match|t |0.4259]|x |B8.8213]|
| - minerva_math_prealgebra 1|none 0|exact_match|T |0.6877|+ |e.0157|
| - minerva_math_precalc 1|none 0|exact_match|T [0.3297|¢+ |e.8201|

Groups |Version|Filter|n-shot| Metric | |value | |Stderr|

|minerva_math| 1|none | |exact_match|t |0.5056| |6.0066|

LR
Selifanel_em3#§4550.56, X FEH51.9, BMEREITF:

o piplineZEXRAMIEFE (FHmeta-llama/Meta-Llama-3.1-8B-Instruct-evalsE 7 it F R A4
A, RHESERRENEEARRE, EMBpiplineltBEERIIERE—H, BUFEEARERNAT
E=7)

EfstRB#Zir, Hdo_sample EAFasle, RIESRMAMER—, RMERENXFHT, &iEHA
FEEEN, TRUEA E, HOTEITEIELRT,

2.2.2 R ES —

Run * Smoothed Value Step Relative



202U-09-26:23:16:41,785 INFO [evaluation_tracker.py:206] Saving results aggregated
hf (pretrained=/nvme/wyc/SFT-Llama-3.1-8B-Instruct/@925, parallelize=True, dtype=bfloatl6), gen_kwargs: (temperature=@,top_k=8,top_p=0,max_new_tokens=1024), Llimit: None, num_fewshot: @, batch_size:
128
Tasks Version|Filter|n-shot| Metr: | |Value | | stderr|
- = -
1|none
1|none

|exact_match|T 4910 |=
8]exact_match|?T .6908 |+
8|exact_match|T .U3L6 |+

minerva_math |
|
I
1|none | 0|exact_match|?T 367U |+
|
|
|
|

- minerva_math_algebra

- minerva_math_geometry

— minerva_math_intermediate_algebra
minerva_math_num_theory
minerva_math_prealgebra
minerva_math_precalc

0]exact_match |1 .2935|x
0]exact_match|T 4111
8]exact_match|?T .6820 |+
8]exact_match|?T .3150 |+

1|none
1lnone
1|none
1|none

| |
| |
| |
| |
| - minerva_math_counting_and_prob | 1|none
| |
| |
| |
| |
| |

| Groups |Version|Filter|n-shot| Metric | |value| | Stderr|
fffff e e T ] s

|minerva_math| 1|none | |exact_match|T [|e.u91|= |o.e067|

Siean:

ZESHEEE T userfassistantii N B MMERE, FE2055HE, lZklossERM TE, F=HX
RMIA49.1, KA, BROANBLUTSATE:

. MiEED
o JIERIIBRBIECOT, A T SRR prompt
. HitSERERFRIBES (EHR)

2.2.3 MiAgRES —

ZAMANIEGES—, BNFEIPENEE, ZESTHEMARERKEEGRE, HEA!
o LorafkH8MEZE4, /S

e LoraZ5illZRIINDropout

o LRI AWeight/ET]

o MMAEUEITH, LIRS COTHIRIAEIES

ZRINT: RMEERRE46.34, WRRE, TTULEM AR\ ERIERIF TEESH SR, FBRXR
MRS, #—FSFHENBRE.

202U-89-27:14:45:05,935 INFO [evaluation_tracker.py:206] Saving results aggregated

hf (pretrained=/nvme/wyc/models/SFT-Llama-3.1-8B-Instruct/0927, parallelize=True,dtype=bfloatl6), gen_kwargs: (temperature=0,top_k=0,top_p=0, max_new_tokens=1024), Llimit: None, num_fewshot: @, batc

h_size: 128

| Metric | |Value |Stderr
{Jommme e e ey ) gy

1|none |exact_match|T

1|none 8]exact_match|?T

minerva_math
- minerva_math_algebra

1|none 8]exact_match|?
1|none 0|exact_match|?T
1|none 8]exact_match |t
1|none 8]exact_match |t
1|none 8]exact_match |t .2802|x .8192|

minerva_math_intermediate_algebra
minerva_math_num_theory
minerva_math_prealgebra
minerva_math_precalc

|
| |
| |
| |
| - minerva_math_counting_and_prob | 1|none 0]exact_match|?
| minerva_math_geometry |
| |
| |
| |

| Groups |Version|Filter|n-shot| Metric | |value | | Stderr
Jmmmmme e ki [ Jmmmmmmeee e

|minerva_math | 1|none | |exact_match|t |[0.u63u|x |8.0067|

2.2.4 FREhIgRES =

MR EFiRiAER, REXIFEself attentionBIK. VEIweighti# TLoraffid, E&HIEINIGES =8
250, BT HitERI R LIRAIR M,



BE—: FfAllamaFiEself atthention®9Q. K. VBIweight, FNEHIEHIBES T, tokenZ[E)%k
AREETN, HABREEMEEI,
FEZ: REiAlamaFiE2iEERE (BaiEconvIDRE) , BleEERESTMISHEMXRE, &
BANEIR Zﬁﬁﬂtokenééﬂééﬂ’ﬂ—ﬁz'&o

£=:. RfAllamaizig—LlamaDecoderLayer (5314 decode block) , UKEEEHINnorm#l
Im header®, BMNECELEIMNS, BelRE/NEE THHFERESHIARN.

UE=1MAR, REAE=DEEBHRFREENYER, HATSERMT

HE-HAT
e 33FIm headerf9iXE, #H1T

%, HREXBEE2EMA

[
o

base model.model .model.layers.29._input_layernorm.weight torch.bfloatlé False
).post_attention layernorm.weight torch.bfloatlé False
.self attn.q proj.weight torch.bfloatl6 False
.self attn.k_proj.weight torch.bfloatl6 False
.self attn.v_proj.weight torch.bfleoatl6 False
.self attn.o proj.weight torch.bfloatl6 False

.mlp.gate proj.weight torch.bfloatlé False

base _model.model.model.layers.

W g
& 0

base model.model .model.layers.

[
&

base _model.model.model.layers.

[y
&=

base _model .model .model.layers.

o
&2

base model.model.model.layers.

I
&

base_model.model.model.layers.

[y
&

base model .model .model.layers.38.mlp.up_proj.weight torch.bfloatl6 False

[
&

base_model.model.model.layers.30._mlp.down_proj.weight torch.bfloatlfe False

I
&=

base_model.model.model.layers.30.input_layernorm.weight torch.bfloatlé False

o
&2

.post_attention layernorm.weight torch.bfloatlé False
.self attn.q_proj.weight torch.bfleoatlt True

.self attn.k_proj.weight torch.bfloatl6 True

.self attn.v_proj.weight torch.bfloatl6 True

.self attn.o _proj.weight torch.bfleoatl6 True
.mlp.gate proj.weight torch.bfloatl6é True

base model.model .model.layers.

I
l_'n

base _model.model.model.layers.

[y
'_'l

base model .model .model.layers.

]
l_'h

base_model.model .model.layers.

I
l_'l.

base_model.model .model.layers.

o
l_'l.

base model.model .model.layers.

I
l_'n

base model.model.model.layers.31.mlp.up_proj.weight torch.bfloatle True

[y
'_'l

base model _model .model.layers.31._mlp.down_proj.weight torch.bfloatl6 True

|
l_'h

base model.model.model.layers.31.input_ layernorm.weight torch.bfloatle True

I
l_'n

base model.model.model.layers.31.post attention_layernorm.weight torch.bfleatl6 True
base model .model .model.norm.weight torch.bfloatl6 True

base _model.model.lm head.base layer.weight torch.bfloatlée False

base model _model.lm head.lora A.default.weight torch.float32 True

base model.model.lm head.lora B.default.weight torch.float32 True

o HUEMARE:

model .print_trainable_parameters()

0.0s

trainable params: 218,112,000 || all params: 3 in: ®: 2.7154




args = TrainingArguments(
output dir=output dir,
per_device train _batch size=2,
gradient accumulation_ steps=16,
gradient_checkpointing=True,
learning rate=1e-5,
weight decay=0.801,
logging steps=2,
num_train_epochs=29,
adam_epsilon=1e-4,
save _total limit=3,
bf16=True,
ddp_find_unused_parameters=False,
dataloader num workers=4,
dataloader pin_memory=True,
save strategy="epoch”,

eval strategy="no"

trainer = Trainer(
model=model,
args=args,
train_dataset=train_tokenizer datasets,
data_ collator=DataCollatorForSeq25eq(tokenizer=tokenizer, padding=True)

trainer.train()

ZLeaT:

2024-10-03:08:40:54,306 INFO [evaluation_tracker.py:206] Saving results aggregated

hf (pretrained=/nvme/wyc/models/SFT-Llama-3.1-8B-Instruct/1002, parallelize=True, dtype=bfloatl6), gen_kwargs: (temperature=8,top_k=0,top_p=0 max_new_tokens=1024), limit: None, num_fewshot: 0, batc
h_size: 128

| Tasks |Version|Filter|n-shot| Metric | |value | | Stderr|

|

|minerva_math | |exact_match |t . |e.

| minerva_math_algebra | 0]exact_match |t . |e.

| minerva_math_counting_and_prob | 0]exact_match |t . |e.

| minerva_math_geometry | 0]exact_match |t . |le.

| minerva_math_intermediate_algebral| 0]exact_match |t . le.

| | 0]exact_match |t . |e.

| | 0]exact_match |t . |e.

| | 1|none 0]exact_match |t .3297|x |@.0201|

minerva_math_prealgebra
minerva_math_precalc

minerva_math_num_theory

Groups |Version|Filter|n-shot| Metric | |value | |Stderr|

|minerva_math| 1|none | |exact_match|t |0.5062|x |0.0066]|




